

$$\text{I} \left\{ \begin{array}{l} 24 \text{ м} - \text{еброк} \\ 16 \text{ м} - \text{винорп.} \end{array} \right\} 72,8$$

$$\text{II} \left\{ \begin{array}{l} 30 \text{ м} - \text{еб.} \\ 25 \text{ м} - \text{винорп.} \end{array} \right\} 100,25$$

еб. x

вин. y .

$$\left\{ \begin{array}{l} 24x + 16y = 72,8 \quad | :4 \\ 30x + 25y = 100,25 \quad | :5 \end{array} \right.$$

$$\left\{ \begin{array}{l} 6x + 4y = 18,2 \\ 6x + 5y = 20,05 \quad \times (-1) \end{array} \right.$$

$$\left\{ \begin{array}{l} 6x + 4y = 18,2 \\ -6x - 5y = -20,05 \end{array} \right.$$

$$-y = -1,85$$

$$y = 1,85 - \text{винорп.}$$

$$6x + 4 \cdot 1,85 = 18,2$$

$$x = 1,8 - \text{еб.}$$

Ответ: 1,8 ебро
1,85 ебро
винорп.